Unit 5 Review - Reasoning with Geometry
Geometric Properties

Solve for x.
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Proofs with Lines and Triangles

/ Q- h (3\-+42)°\
(@+80)° / ¢}
C < '/} L . (5x — 22)°

X =20

f o B
> A 80°/ @ B
m P— (Bex)” »
\ > ¢ '/ H D
YR

4, Given:a||bandc||d
Prove: 21 = 216
<€ A\Z\ BZ\O > a
4 11/12 <
il
VA
Sekment ‘| Reason
- ally G
el ok Wala
Ly 5 €5 Covw%vancl'lnﬁéf
15 ‘{; Z\\w AR% Tk €5
AN ZAV gt (g

5. Given: C is the midpoint of BE , A = ¢D
Prove: AABC = ADEC
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Prove: AABC = ACDA
B

6. Given: BC = DA, BC || D4

c : 3

7. Given: ELE. BA = BC
Prove: ABAD = ABCD
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Properties of Parallelograms
Solve for x.
9 D

8. A
/{2x+15)° / B
D c

(=55

cC

10. D
3:&‘—/
A B

*=A

20+1

2z +35)°

A

11. BD=8x+4 and BE =22

A

B




ofs with Para rams

12. Given: ABCD is a parallelogram
Prove: ADEA = ABEC

13. Given: ABCD is a parallelogram, AR = (3
Prove: AARD = ACSB
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14. Given: ABCD is a parallelogram

Prove: 2DAC = «BCA
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Properties of Quadrilaterals

Solve for x (and y, if needed).

15. QTSR is a trapezoid. 16. KMNJ is a rectangle. KN = 3x+ 14 and JM =38
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17. ABCD is a rhombus. 18. ABCD is a kite.
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Proofs wi uadrilaterais

20. Given: ABCD is an isosceles trapezoid

Prove: AADC = ABCD
B

Prove: AADE = ABCE

21. Given: ABCD is a rectangle
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22. Given: ABCD is a rhombus

Prove: ADEC = ABEC
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Prove: YO = WO

23. Given: YX = WX, ZX bisects 2YXW
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